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SINDHI HIGH SCHOOL ,HEBBAL
FORMATIVE ASSESSMENT - II (2015-16)
SUBJECT:- SOCIAL SCIENCE

Class X

Marks:- 30

1. Name the oldest Japanese book. (1/2)

2. What is the other name given to ritual calendars? (1/2)

3. What is meant by Enrichment Plantation? (1)

4. What steps have been taken by the government towards conservation
of wildlife? (3)

5. Differentiate between Reserved and Protected forests.(3 points under
each) (3)
6. Define per capita income. What factors other than income are

important aspects of life? (1+2)
7. “Through the 19th century, there were a series of further innovations
in printing technology.” Analyse. (3)
8. What are manuscripts? Why were they unpopular? (3)
9. Explain the Vernacular Press Act. (3)
10. How was print developed in China and Germany? Who perfected the
system and when? (2+2+1)
11. What is Infant Mortality Rate? Distinguish between Economic
Development and Sustainable Development. (1+4)

SINDHI HIGH SCHOOL.HEBBAL
FORMATIVE ASSESSMENT - II (2015-16)
SUBJECT:- MATHEMATICS

Class X
Marks:- 30
SECTION -A
Answer the following questions (1x4=4)

1. AABC ~ APQR .If R =53°2A = 49° then find 2£Q.
2. Can sinf = ; ,for some angle [? Justify your answer.

3. If sec2A = cosec(A — 42) where 2A is an acute angle, find angle A.

4.AABC ~ APQR,find AB given that ar (ABC) =30 cm? ar(PQR) =
20cm? and



PQ= 16cm
SECTION- B (2x 3 =6)
S. In the figure L1=L2, L3=L4. Show that PT x QR = PR x ST

6. Verify co 600 =1 - 2 sin2300 = 2 co0s230°

7. 1f tan = —= , then find cosec?.
/q2_p2 |
SECTION-C (Bx4=12)
0 2 o__ 2
7. Evaluate -2 4+ A(sec 397 cot 317 —z sin90°

3 sin20° 3

8. The sides AB , AC and perimeter P1 of AABC is three times the
corresponding sides DE , DF and the perimeter P> of ADEF.Show that
the triangles are similar.

9. If sin A + cosA =2 cos(90°- A), find cotA

10. a)If A = 60°, B = 30°, then prove that sinA cosB — cosA sinB = sin(A -
B).

b) Using the t-ratios of standard angles, evaluate tan7509,if tan(A + B) =
tanA +tanB

1-tanAtanB
SECTION -D (4 x 2 =8)
11. ABCD is a trapezium in which AB II CD and its diagonals
intersect each other at O . Show that % =%

12. Prove that " In a right triangle, the square of hypotenuse is equal to
the sum of the squares of the other two sides."
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SINDHI HIGH SCHOOL.,HEBBAL
FORMATIVE ASSESSMENT -1I (2015-16)
SUBJECT:- GENERAL SCIENCE
Class X Marks:- 30

1. Define S.I. unit of electric charge. (1)

2. You are given the conductors A and B of copper. Compare their
resistivities .
COMMENT.

(@) (b) (1)

3. Name the following (a) Acid present in vinegar (b) Base used in
antacids (1)

4. Hari extracted the juice of onion, dipped two pieces of cotton in (1)
the Juice, On one piece he poured a dilute acid and on the other he
poured a base. He tried to smell both the pieces of cotton, but he found
strong smell in one and the other did not have the smell
(a) Identify the substance which did not have smell.
(b) Name the type of indicator being sensed.

5. Give two differences between transport of materials in xylem and
phloem (1)

6. [llustrate the physiological action on food in the duodenum (2)

7. Four solutions A,B,C & D when tested with universal indicator showed
pH as 5,9, 1 and 7 respectively. Identify which one of them (2)
(a) Alkaline, (b) Neutral, (c) Highly acidic, (d) Mildly acidic.

8. Write the functions of a, b & ¢ in
the given diagram and explain the
phenomenon shown.

(2)




9. Narendra uses parallel arrangement of electric appliances while
Mohan prefers series arrangement . Who is intelligent ? Why? (mention
two reasons )  (2)

10. An electric wire of resistance R, length 1 and area of cross section a ,
is stretched such that its length is tripled. Is there change in resistance?
If so, Compare R with the changed resistance. (3)

11. Solve the following numericals: (2+1=3)

(a) An electric motor takes 5 A from a 220 v line. Find the power of the
motor and the energy consumed in 2 hours.

(b) An electric geyser has the ratings 2000 W and 220 V , marked on
it. What should be the minimum rating of the fuse wire for safe use with
the geyser.

12. Write the balanced chemical equations for the chemical changes (3)
(a) reaction of HCl with sodium carbonate.
(b) reaction of zinc with NaOH
(c) reaction of Al with H2SO4

13. Give reason (3)
(a) pH changes in the mouth cause tooth decay.
(b) Farmers treat soil with calcium oxide.
(c) Hydrocloric acid & acetic acid change blue litmus to red but
show different colour on the pH paper.

14.(a) Draw a neat diagram of human excretory system and label (3)
(b) Name the 3 steps in urine formation (2)



SINDHI HIGH SCHOOL, HEBBAL
FORMATIVE ASSESSMENT-II (2015-16)
SUBJECT:- ENGLISH
Class: X Marks:30
SECTION A (READING)
1. ASIATIC BLACK BEAR
The commercial trade in bear parts especially the gall bladder, which is
used in traditional Chinese medicine-poses a major threat to the Asiatic
black bear. Besides poaching, there is loss of habitat and increased
confrontation with man. Only a small proportion of the bear population
in the country is within protected areas. Since bears move to different
habitats and elevations depending on the season, they come into conflict
with humans. S. Sathyakumar, Head of the Department of Endangered
Species at the Wildlife Institute of India, says that “bears become
increasingly territorial during their breeding season in summer and tend
to attack whatever resources are available”. Cases of mauling also tend
to increase making human-bear conflict common, especially in
mountainous regions. Most of the bears found in India spread across the
hill states of Jammu and Kashmir, Uttrakhand, Himachal Pradesh and
North East. A comprehensive count of Asiatic bears in India is not
available but estimates put their number at anywhere between 6000 and
7000. However, their numbers can fall if poaching continues and the
habitat shrinks further.

[

On the basis of your reading of the above passage, complete the
following sentences. (3x1=3)
(1) Asiatic bear is usually hunted for

(2) Major threat is posed to this bear by

(3) Cases of mauling tend to increase during their breedlng season
because

Identify the word in the passage which means the same as:(2 x 72 =1)
(a) to attack and injure’ (b) ‘dying out’
2. A BIRD CAME DOWN THE WALK

A bird came down the walk
He did not know I saw

He bit an angleworm in halves
And ate the fellow, raw.

And then he drank a Dew
From a convenient grass,
And then hopped sidewise to the wall



To let a Beetle pass

He glanced with rapid eyes

That hurried all abroad

They looked like frightened Beads, I thought
He stirred his velvet head.

Like one in danger, cautious
I offered him a crumb,

And, he enrolled his feathers
And rowed him softer homes.

Complete the following statements: (6 x Y2 = 3)
(a) The poet sees the bird

(b) The poetic device used in the thlrd stanza is
(c) The bird ate

(d) The word "They’ in the thlrd stanza refers to
(e) The bird appeared to be

(f) offered him a crumb.

SECTION B (WRITING)
3. Use the following clues to write a paragraph describing one of the
security guards posted at the main gate of your apartments, in
about 80 words. (3)
(1 Ganeshan — a retired soldier-working as security guard
[1Age-around 50
() Build-tall and robust
1 Big moustache, intimidating looks
[ Sincere, dutiful and conscientious worker-very alert-good presence of
mind
[ Popular — helpful towards the old and children, caught a gang of
robbers once

4. There has been an increase in the number of mosquito-borne diseases
like malaria and dengue in your colony. Using the ideas from the Main
Course Book Unit, Health and your own ideas, write a letter to the editor
of a national daily giving your analysis of the situation and suggestions
to check the problem. Write the letter in not more than 120 words.(5)

SECTION C (GRAMMAR)
5. The passage given below has a word omitted in each line. Find out the
omitted



word and also write the word that comes before and the one that
comes after it

in your answer sheet. (2)
[
The major crisis faced the world is population. faced by the
India’s population now reached (a)
a total 1380 millions. The (b)
census is not complete areas (c)
likeManipur and Nagaland. (d)

6. Read the conversation and complete the passage given below: (2)

Husband: Did you talk to Dr. Bernard?
Wife: Yes, but it is important for you to rest.
Husband: What is it?

Wife: Nothing. Keep quiet.

a. The husband asked his wife Dr. Bernard.
b. The wife replied that she had but to rest.

7. Complete the passage given below by choosing the correct
alternative: (2)

Many people (a) have grown up in multi-child families (b)
that a single child family is a very fortunate one. They mention
such benefits (c) lack of competition (d) parental

love in such families.

(a) That, which, who, where (c) like, such, instance,
example
(b) Are thinking, thinks, have thought, think (d) in, of, for, about

SECTION D (LITERATURE)
8. Read the extract and answer the questions: (3)
You must make your public happier
Give them something sharper snappier
We must aim for better billings
You still owe me sixty shillings”

(a) Who says these words?
(b) Why does the speaker ask for sixty shillings?
(c) What is the rhyme scheme of these lines?



9. Answer the following: (3x2=6)
(a) Why were the narrator and his companion impressed by the two
boys?

(b) How did the villagers react to the tiger‘'s death?

(c) What is the significance of the mirror being compared to the lake?
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SINDHI HIGH SCHOOL,HEBBAL
FORMATIVE ASSESSMENT - II (2015-16)
SUBJECT:- L2 HINDI
Class X Marks:- 30
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